1. mmwﬁﬁﬁﬁﬂh%mwﬁﬁmwff
Wﬁ?ﬁ?mﬁﬁr%a‘raﬁmmﬁmm%?
) @  HSSC CET Gro
T mmi”i””g Question Paper
o 21 Oct 2023
©) i 2N Shift
2. 'mmasmmﬁw@#@%ﬁmf@a
)
@

@

+,

When natural productg gy h
C

forms through ways of g anged jntq Other

known as : nufactun.ng o
4 18

p D (1) Tertiary sector
(2) Industrial secty,
(3) Primary sector
(4) Secondary secto;
(5) Notattempteq

2. In vx./hich district of g

v Khajuraho Group ofMonumiitls’rladesh, are
(1) ~ Chhatarpur g ed ?
(2). Jabalpur

(3 Gwalior
' ~(4)  Indore ;
.+ (5). Notattempted

4. :Whéré‘ is the National Gallery of
.loqgted? ba iy , 4
() '-

X B v

Hrmi
[

©)

;. “Which of the following is mot part of the
g Papchayati Raj system in India ?
A1) 3
e
e
R
i (8).

Zila Parishad '
Gram Parishad
Gram Sabha
.Gram Panchayat
; :Nof ajctempted

Modern &

New Delhi
Kolkata
Mumbai
Nagpur

Not attempted

'Whom did India beat in the Finals of st

~ OneDay Cricket Tournament held in the"
20237
(1)  SriLanka
(2) . Nepal
/9) : e, 3) - Pakistan Ul
) e R L L4 Bapgladesh i)
() SWHETE i ~ (5). Notattempted
' '::'-. ; s "' H"' p 4___/”&
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6.

dogaa g+ o o & el wew 3 fo s

6. In which year did the United Nations adopt
Wﬁ‘\’ﬂﬁ%ﬁqﬁ ST the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
@) 1990 (2) 1990
(3) 1986 (3) 1986
(5) IR < AR (5) Not attempted
R <7 e e e 2 7.  Where is Salar Jung Museum located ?

(1) ﬁl{{ (1) Mysore '
(@ (2) Goa
(3) T (3) Bhopal
(4) TER (4) Hyderabad
(5) ST T TEA (5) Not attempted i
et TH 6 SR H Frefited He W o 8. Consider the following statements about
FTY) B T FYE T TR L2 Democratic Governments. Which statement
(1) e A Hiafearrs S & w9 § o is not correct ?
_ SR (1) Democracy is also known as
@) S g T ‘%wa ﬁ gy %m represent.atwe democracy..
(2) Democracy guarantees universal adult
Tl . franchise '
(3) Eireha A ARl AW :«‘1?\'131‘1 = ﬁaﬁﬁa W (3) Indemocracy people have power to elect
H ARG A B © " their leaders
e Fl A F EIT Y sﬁ ‘\E[Fn' Gﬂ?ﬂ % | '(4)' . Democracy is also known as Oligarchy
(5) R TE <A1 =R (5) Not attempted
9. =& &' TR’ T wel S § ? 9.  Why Earth is called the ‘blue planet’ ?
(1) m'ﬂﬁ?ﬁaﬂ%l (1) = Because it has life. .
() HifF Y= w1 91 wiawa 3:{1‘% ﬂFﬁ -\q {2)  Because more than 91% of the Earth is
= 4 covered with water.
@) mm T | (3) Because it is blue in colour.
' (4) Because more than 71% of the Earth is
/(4) it gt 1 71 v @ a’r‘w KIpii covered with water.
e B (5) Not attempted
(5) S TE < =R . _
- 10, Tieh <o st & wRa # o ol F aow ey o Isno:gicfl\lleiaar'g e pEive i indlia from
g7 . (1) 1917
S @ s
(3) 1907 &) A90¢
@) 1915 ) 11918
¢ TR AL & = (5) Not attempted
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1L, e g == -

@Wmﬁﬁmm%mm
m;‘ 1927 % we arri i Som o, fogeht 4=

AN e e
() = wEm
() E SRR
(4) U A
(5) S Tl <1 9ed

12. gafad =i :

-1 g - I
(a) |
B) . '
(©) I) T W) St HwA
) \qv) STl R R e
ﬁ%ﬁqmﬁmﬁ%aﬁwaﬂlwaﬁﬁq :
(1) ®-0m, (8)-an, (©)-aV), (D)-Q
2) _(A)-@, B)-(Iv), (C)-(11), (D)-(11)

(A)-(IV), (B)-(I1D), (C)-(11), (D)-(T) -

@) (A)-a), (B)-0), (C)-IV), (D)-(11)
(5) - S TEl A RS fsard

Pd

13. Torg TeEy & w0 < = 99 aﬁuao‘%?v

(1) - TRl

@)  <feor e
_A8) RPN

4

(5) TR S =R

14. Trg aad Q gl afedn ot ST 9K €2

11.

12.

13.

BT TR T A

Government in Bpesca
in 1927, which wag he&dezent a ’Qt)he B,
(1) Lord Hastingg by . '“rm,‘
(2) Lord Simon

()  General Dyer

(4) Robert Clive

(5) Not attempted

Correctly match the folloWing .

List -1 List.n
(A) RYOt (I) Vi‘uage
(B) Mahal () Peagyy,
(C) Nijj (111) ICultivatiOn -
(D) Ryoti (V) Cultivay,,
planter oW gy

Choose the correct answer f,
below :

(1)  (A)-(D), (B)-(1), (C)-(v), (D)
2) (A)-O, (B)-1V), (C)-(I), (D)-m)
(3)  (A)-(IV), (B)-(I), (C)-(I), D)
4)  (A)-aD, B)-0), (C)-(IV), (D)-(u

mop

" (5) Not attempted

Which continent has the highest nit
countries ?

(1) Africa
(2) South America

" (38) Asia -

(4) Europe
(5) Not attempted

‘The finest cricket bats ar€ made

14.
(1) <S<-9% wood ? -
4 (2) fosii - 9% . (1) Banyan tree
(2) Willow tree
Pl 2 (3) Palm tree
@ e - " (4) Pine tree
(5) W TEH S ARA

(5) Not attempiei/
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L ﬁmag‘i“mmmmm%wmﬂ
3 gRI = s ¥, fRw @i

T N Yol B ¥
(1) i ;
(2) 3t
@) el
4 99
(5) SW T [T ==
16. & WS S et fererw e o1 wEw W E
gHfaq: A '
(1) S
(2) T a1 §RY
/(8)/ oD S
@) &
(5) SWTEIMIAR
17. - TS 3 TR 1 QHRL A B Wil
(1) 98.4°C I e
i esC
3) 35°C
@) 37°C | p
(5) SO & e
18. zﬂﬁﬁaaﬁﬁﬁwm#mwﬁﬁmﬁrm
(1) AR -
/‘,2) e TR IR
3) Terrenfer
@) AT T HIOTERTE
(5) R =7EY < =med

19. < i 7 R T AEHFAE?

[

16.

16.

17.

Khabar Lahriya, a newspaper Tun hy "i,ght
diBtl‘lCt’

Dalit Women in Chitrakoot 4
Uttar Pradesh, comes out in which loca

language ?
(1) Pishoni

(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red litmus into
blue are in nature.

(1) Neutral

(2) Acidic or Basic
(3) Acidic

(4) ' Basic

(5) Not attempted

The normal temperature of human body is :

(1) 98.4°C
() 98°C
(3) 35°C

') 37°C

() " Not attempted

18.

19.

i

Which of the following helps in clotting of

- blood ?

(1) ' Platelets

"~ (2) '~ White Blood Cells
-3 Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which 1_s the r.nost common carrier of
communicable diseases ?

(1) —SAE-TGT
2) < (1) Dragonfly
(2) ' Ant
(i) 'ﬂ’@l“a@ (3) Housefly
4) mq“ :m%d%m‘ - (4)  Fruitfly
5 = (5) Not attempted B
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20. Species fo
und only j
Y in
a

20. 3 worfet <
iy %Tam & o @ wé ot € 3%
(1) #E[E‘[‘q? known as : .
/('i) WTF—'H—T f;) Endangered ar[ir'-
(3) gﬁq (3; gndemic
Ty (4) Ear'e
(5) I xtinct
” a:ﬂ aﬁa (5) Not attempted
1. FefaEad
H § 37eTg HT =AY 21. Select the no
(1) E‘ET : _ 1) s n-metal fropm "
(2) m (2) Soditim Cf
/(3 ) W £3) Sulphur
(4) <l : (4) Copper
(5) I :l'éT a:n a.rga. (5) Not attempted
22. waA-IHfCE . ' 22. Match the i
HTAH t - )
e gafed aﬁﬁ{ns :Te[ . 3 fuTu TR ¥ those in ceolluf; g;;/ €N 1n Coy,
I ’ I
(A) TR II (4) Chloroplast 0 L
R o ' ‘
® s e B) Rhizobiu ' plagI
(C) STREA (E) RSt g (C) Cuscuta " () P
B Fw S o ) g 5
g A 51§ ns
(1) ‘(A)-(III) (l;)—(II ‘ Choose the correct option bpla;
T WEEmemes | 8 Saie T
(A)-1D, (B)-0, (©-), (D)- - (A)-(11), (B)-(D), (CI-{), D
(4 (A)-m), (B)-(m,((c’:,f&i’ 83;: ) (3) (A)-(D), (B)-(I)),(E:)E 1(? Ll
(5) A A , (D)-(IV) @) (A)-), (B , (C)-(1D), (DH
2 | MR iy (C)-0, (LT
3. wem-I4d : | , e
%mqu’%?;ﬂé?aﬁw-n,ﬁmmﬁ SRR
I o Column _elitfims in Column -1¥
. - :
(A) | " & .
B) TUEEREH o Typhoid R
3 1) S (C) Malaria : ) g g
% g 1 v) SEeet (D) Wheat rust :rg)) prizc;
fg T faamedl F YR TP T RIS Choose the correct answer fr
e | b
(1), (B)-(111), (C)-(1D), (D)- ‘ (A)-(111), (B)- {
A)-), (B)-0), S o i (©-V) O
5) @A Ansh ) (A)::IB; ® T o
5) N , (B)-(D), (C)-(¥),
Wﬂﬂ!fasﬁmgzw ot attempted
/ -
SPACE FOR ROUGH WORK /
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24. If a body covers 100 km in 5 hours its speed

24. qﬁ@ﬁ‘@;oomaﬁiﬁsqﬁﬁaﬂm%?ﬁ pale
WH TR FA (1) 20 km/hour
A1) 20 fRAL /= N (2) 500 km/hour
@ 500 fRH. /s (3) 20 meter/hour
(3) 20 ¥/ T (4) 20 centimeter/hour
4) 20¥dHY Hel (5) Not attempted
S T{ﬁ o A | 25. . Which is the best conductor of heat from the
: ? following ?
25. ﬁwrafaf 3 S T o R S e - silver
), I s (2) Aluminium
() ST | B o
Sl i ' (4) Kerosene
IR | | - (5) Not attempted
(5) STl & <ed ' g
el rﬁsﬁ_’ﬁw%w@ﬁ T K 26. giggznlc)}lligfd:ness is caused due to the
(1) FEfmc - . (1) - Vitamin C )
(@ fRfED SR (2) Vitamin D
3) ffA | (3) Vitamin A
po) faeif @B : W @ Vitamin B
5) . - -1 AL - (5) Notattempted
217. ﬁaﬁ@a@maﬁ ﬁﬁza%?qTWﬁﬁ?ﬂﬁﬁl 27.' Cockroach breathe through network of air
s ki b
: : =S 1 iaphra,
1) ﬁ???ﬁ | »:; _ fi l 22; Stoi;afa?zn‘
@ ™ : : 1 @ G -
' W‘F"e:"f AETIEEES (4) Trachea
@, o - (5) Not attempted
(5) SR TE & A i ;
o8, FeAfafEad ¥ S 1 7o § Hafed -,3[1-[ SURY, 28. | g‘i’:;::e o: the following is not a deficiency
' /6 o ; | () Goitre -
(2 A | a (2) Scurvy :
(3) it (3) Anaemia
(4) waren - (4) Malaria
(5) TN 7f &1 =Ted ~ (5) Not attempted
<0 1 3 fé1u e / SPACE FOR ROUGH WORK Page 7
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29. Tfafea ¥ Qs T e U1 1 fe@an &2 29. The planet which appears reddish in cop,

(1) is :
s .(1) Venus
@) v (2)  Mars
(3) Earth
@ o (4) Mercury
(5) SR T W=

(5) Not attempted

,ﬁﬁqﬁq‘qﬁ 30. Match the items given in Column - With

‘ %mﬂﬂﬁ'ﬁ R ' those in Column - II :
I-(aemem) II - (whman) I - (Digestive Organ) II - (Process)
A) B e en (A) Small Intestine (I) Chewing of fooq
&) . e (B) Large Intestine () Churningoffoo
® = irer 1 foeirert (C) Stomach () Absorptionof
(©) N\ iIl) e o i food
(D) (IV) e 1o (D) Mouth (IV) Formation of
T i{ﬁ'q ) . faeces
: ' Choose the correct options below :
(1) (A)-(m), (B)-Iv), (O)-(1), (D)-() -
A2 (A1), B, (©)-w), 0)-() | W AL, BV, (-0, D)-m
B  (A)-aV), (B)-(I1), (C)-(1), (D)-(I) - @ A)-m), B)-@v), (C)-1), (D)-()
@ (A)-aV), (B)-@), (C)-(m), (D)-(11) - ) (A)-0v), (B)-(1), (O)-(1), (D)-(11)
(5) SR N =wed | 4. (A)-V), (B)-(1), (C)-(1), (D)-(11)

2 (5) .Not attempted
31. TRy IR 30w a8 A Frewd (1) ok (1) R

TSq 7T el <t ¥ A §U AR S WA I At | 31, Two statements afe given, followed by two
4 i & =1 7 wdia 2 B, fofa % e s HT/@I " conclusions (I) and (I1). Assuming the

) X statements to be true even if they seem to
ey feu 7T el & SR Wmm@m at variance from the commonly known facts
/P €1 decide which of the conclusions logicall

: T T4 LTI follow(s) from the given statements.
5o ol vet ¥ R .Sta_tements * Some dogs are fishes.
: 0 FoFAEE : Sl Some fishes are birds.
frrer | onclusions: (1 S birds:
@ FouE T e (1;) S°me iogs are -
o : . ome birds are dog*
(1) Frod ( SR I Frma €1 () Both conclus;
P 4 conclgsmns (I) and (I1) follow
g)})/ 7 a1 fred (1) &R A & (11) Freperan 2 (2)  Neither conclusion (1) nor (I1) follows
(3) e Foowd (1) Feheran & ()  Only conclusion (1) follows
(4) o Frewd (1) Frehera &1 (4} Only conclusion (II) follows
(5) TW el &1 =ed (5)  Not attempteq
HANTV / F2 ¥ %1 % feru 2t / SPACE FOR ROUGHWORK — o
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32. 39 Fohed 1 99 HL O Y 98 A SR YER Gaifg | 32.  Choose the option which is related to the third

“. . is
TN T TS T U § el ¥ ité{::egl t‘;hfh‘saai{ir::tjﬂay as the second term
xESENIRLE SRl A Mosquito : Malaria: :Rat: _2
(1) i (1) Rabies
(2) CREEE | (2) Typhoid
| b)})/ @ (3) Plague
4 <7 (4) Dengue
(5) ST TR A 9w : (5) Not attempted
33. fowd =1 997 wifsw) 33. Find the odd one out.
(1) TEr ' T (1) Sparrow
@ . (2) Parrot
(3) FER ) ' (3) Pigeon
et (4) Kiwi
(5) * Not attempted
(5) ST T < W ‘ 5

] . - : 7 34. A set of English letters is given below in a
34. 2 ISR ERl & UHE I Tegafeyad wu H fe jumbled order. Select the combination of

2| deel ¥ S AT & 99 5 e TR numbers so that the letters arranged
R} ) =afd T W awzfiufwaﬁ | accordingy form a meaningful word.
L N S A I G | RALTRE N TS B ETA BT G
1 2 3 4 5 6 1 1 2 3 4. 5 6
(1) -3,5,4,2,6,1 iy (1) 3,5,4,2,6,1
2,6,3,1,4,5 D @ 2,6,3,1,4,5

3) 5,4,2,1,6,3 1. B 542163
@ 3,56,241 @ 3,5,6,2,4,1
(5) SO TE < =R (5) Not attempted

3. ufg T fafvad e § ‘MUSSOORIE’ 1 | 35, [fin a certain code language MUSSOORIE is
‘OTURQNTHG’ Teran Wl ¥, ot 3eft v # written as ‘OTURQNTHG’, then how will
DELHI’ 9 =11 feran s ? ‘ ‘DELHI’ be written in that code ?
(1) FCNFK (1) FCNFK
(2) FCNGJ (2) FCNGJ

(/(3) FDMGK | (3) FDMGK

(4) FDNGK (4) FDNGK . )
(5) W & = (5) Not attempted

HANTV/F2 2% @ & feru 2airel / SPACE FOR ROUGH WORK Pages



36 ﬁaﬁwﬁmﬁﬁmmmwﬁl
A*BHR NG, ‘B A &)
ASBHR T ‘A B gelt ¥
A#BF AR ‘B Am Y
TP Q*R# S8 A fen T 3 W e

A R?
(1) R,Q%fmre
@ S, QE wdw R
B) S,PHERI
/ﬁb’ R, PR AR T
(5) W TE T ="
37. AWATANGEIR ? o J@ Ffu
125, 25,5, 2 , =, o= -l
—— 5’ 25’ 125
1) 1
2) -2
2
(/(‘i; ’
(5) S E o =R

38. R 24 m TR ) ST 35 9 ST < e
24 m T § T G 7€ 3T A G ¥ 9K 16
m T &1 T T ST S8 TS 24 m T 5|

i
8
“&
)
(5)

i 319 319 TR foig | foheT X aen fora feam

40 m, 3W

40 m, =M
32 m, 31
48m,qﬁﬁq
R T A =red

30. @EfHEP,Q,R,S, T 3R U W 3R 4¢ Fh Th
e @2 ¥, Afer T T ¢ TR S FA AN
P THFal AR R BT Q, T F I AH
¥t ¥ SRS, U A SRR QTSR

36.

37.

38.

39.

Read the following information to answer the
question below :

A * B means B is the brother of A’.

A $ B means ‘A is the wife of B’.

A # B means ‘B is the son of A’.

IfP$Q * R # S’ then, which of the fc>llow1ng
statements is true ?

(1) Ris the father of Q

(2) S isthe nephew of Q

(3) S is the son of P

(4) Risthe father-in-law of P

(5) Not attempted

Find the missing term __?  in the series,
1 1 1

125, 25,58, _? , = 55 1n5

1) 1

2 -2

B 2

4 -1

(5) Not attempted

Sarita walks 24 m towards West, then tums
to her right and walks 24 m and then turnsto
her left and walks 16 m. Again she turns to
her left and walks 24 m. How far and in which
direction is Sarita from her starting point ?

(1) 40 m, North
(2) 40 m, West

(3) 32m, North .
(4) 48 m, West -
(5)  Not attempted

Six friends P, Q, R, S, T and U are standing®

a row facing North but not necessarily i the
same order. P’ is to the left of ‘T’ and to
right of R, Q’is on the right of T’ but o *

ot
(1) T3RS () Tands
(2) PR&RR () PandR
3 TERU B) Tandu
(4) PERT 4) PandT
5) I (5)  Not attempteq
HANTV / F2 7% rel 3 fe1e 72ireT / SPACE FOR ROUGH WORK page !



40. fiier 7 e et TER & R YR W B
S TR T e R e 1 veen HaR ¥ | fEe

¥ S w1 i e ?
(1) 22
2) 15
5 23
4) 21
(5) SRl & =ed
41. (o.5xo.5+o.5+5)w%:
(1) 0.35
(2) 0.45
3) 0.15
0.25
(5) S TE < =
42. G EEARd 2p, 5paA7 p sl L.C.M. ?:
(1) 75p
/421 70 p3
(3) 70p
4) 65p
(5) SR Tl < =R

11 o
43, TR IR 3%% it XY 2§ e[ T FTERT

AT 210872
A 72,800
@) 2,500
(3) %1,580
4) 2,400
(5) TR & AR

44. s o7 b 3 Fom o €, A Fre B 4 HA-T e
€7
(1) a+0=0+a=2a
(2) a-0=az0-a
(3) a+b=h+a
Jﬂ a—bh=bh-a
(5) <R T &N =R

40.

41.

42.

43.

44,

Priyanka’s birthday falls on the third Friday
of a month. The fourth day of that month is
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 15th
(3) 23rd
(4) 21st

(5) Not attempted

(0.5%X0.5+0.5+5)isequalto:

(1) 0.35
(2) 045
(3) 0.15
(4) 0.25

(5) Not attempted

' The L.C.M. of three numbers 2 p, S5pand 7 p

1S :

(1) 75p
(2) 70p3
3 70p
(40 65p

(5) Not attempted

For which sum, the simple interest at the rate

3 | 1
of SZ% per annum will be ¥ 210 in 2§ years ?

(1) ¥2,800
(2) 2,500
(3) ¥1,580
(4) 2,400

(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a+0=0+a=a
(20 a-0=a#0-a
(3) atb=b+ta
(4) a—-b=b-a
(5) Not attempted

HANTV/F2
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45 c
. T He

A certain number is divided into |
nr

B W
! 7 T W e e o 1 71 8 Sl W s.uch that 5 times the first part .
AU R T 1 gE 9 times the second part lnf\k()q.";(l('l(f(l to |"
(1) 1:9 ‘ number. The ratio of the ﬁ,.'q'_ timey lhl
(@), 2:3 second part is : st part tg yy,
/( 2:1 (]) 1:2
4 5:11 (2 2:3
SRR 4) 5:11
46. feRt g (5) Notatt :
F:@II T Y iﬂ'ﬁ &I & 65% ¥ el
TRl S g % & SR T | 46
1) 13:8 T Hen Ny . Half of a certain number is equ
) : 3T the second numb qual to 65
(2) 13:10 number to th er. The ratio of the [(')O
/S)/ 10:13 (1 13:8 e second number is : 4
) 8: '
- wl% (2) 13:10
T T (3) 10:13
4 8:13
47. 10mx '
10 mx 5 m fomaif (5) Notatt
e T T HALH @ PrIpted
q @Eﬁ WT%; % : A 47. T
(1)  10y2m + The length of the longest rod th
in a room . : at can be
of dimen placec
/({) 5V3 sions 10 mX 10 '
- 3m (1) 1043 mX3mis
m
3) 153 m ©)
@ 15m =
(5) T I T B) 153 m
. (4 15m
8. 2 = 5
ﬁ'*ﬂla;? #, 7 800 1 RN 10% ek Thaffg =1 5} Notsttempted
7 026.10 B ST il o
; : = i 48. 1 :
Haifea g e ? Gl n how many years will
| per annum co a sum of ¥ 800 at 10
(1) 2 L ser’“i'*’=mnuauynr1§.pound interest, compounde
) = 1 ecome ¥ 926.10 ?
1 B
1 ( ) 23 years
(2) 2‘2- EL
@ 2+
1 years
AT :
1
B 1=
1 yea
@ 13 EL 3 7
1
(5) IR el < e @ 15 years
HANTV / F2 (5) N
I BT 3 7T T/ S ot attempted
PACE FOR ROUGH
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‘9'

.

00 e 7H e W A AT W g9 ar Wl A
srqam 3 : 1 ¥1 5 fiva § e g9 3R Bren wIm

fF g U 4 ¢ 1 BN ?
(1) SEX

(2) 67X
¥~ 7R
@) 4®X
(5) ST & =

0.2 x-0.2 + 0.01 _
0.1x0.1+0.02 ) T HO T, F A

< 4

4

9
2 3

5
B 3

41
@ 17
(5) S AL N =R

51, af forell g o1 Tersha T S9eh hd T I % T

k}/ 20=%
2

HANTV / F2

%, < 7 W o oy wiawe ¥
1
25=-%
(1) 255%

@) 33-;-%'

3) 16%%

1

(5) =@l & = ed

49.

50.

51.

20 litres of o mixture containg milk and water
in the ratio 3 ¢ 1, The amount. of milk to be
ndded to the mixture no as to make the ratio
1:1,10u8;

(1) 5 litres
(2) O litres
(3) 7 litres
(4) 4 litres
(5) Not attempted

0.2 X 0.2 +0.01]

' s X f /
Simplification of 53275 0.02 ¥

41
1) 7
9
2 3
: 5
@ 3
41
4 17

(5) Notattempted

- o 4
If the selling price of an article is 3 times its

cost price, then the profit % in the transaction
is :

(1) 25-;—%

(2) 33%%
(3) 16%%

(4) 20%%

(5) Not attempted

<% @1 @ fo1a ZaTa | SPACE FOR ROUGH WORK
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52. A@mmi—ﬂm 10 f&7 & R werr , B weh

mmm%mmﬁzoﬁam%mcﬁ
mw% W 13 f § S wean 1 9 A = 3

R T Y TR T T e

(1) ¢ -
/(ZJ/AauTC'qﬁ

3) A

4 B

(5) STl < =R

S3.

T (a+b) : (b+c) : (c+a)=6 : 7 ;: 8 A«

at+b+c=14% WcT:

1) 8
2 14 )
3 6
7
(5) ST e & =R

54, A, B 99 C 7 AR T =R § € 50,000 S|

Ific A B ¥ T 4,000 3y A GAM B A C Q@
% 5,000 31fYeh @, @ T 35,000 % Fel T A
AFRI AT :

M 213,600

(2) 14,700
(3) 8,400

(4) T11,900

(5) SRR TG T WA

T FR 1 Fge # 20 WX wwewit w1 fope/sier A

52.

53.

54.

55.

A can do 1 of a work in 10 days, B can (o4
4

1
of the work in 20 days and C can do S ol

work in 13 days. Who can complete the
work in minimum time ?

(1) C
(2) -+ Aand C both
‘(3) A
4 B

(5) Not attempted

If (a+b) : (b+c) : (c+a)=6:7:8;
a+b+c=14,thencis:

1 8
(2) 14
@ 6
@ 7

(5) Not attempted

A, B and C together invested ¥ 50,000 i
business. A invested ¥ 4,000 more thar
and B invested ¥ 5,000 more than C. Out:
total profit of ¥ 35,000, A received :

(1) 13,600

(@) 14,700
3) 8,400
4) 11,900

(5)  Not attempteq

A car goes 20

= T TR T : in km/h is - metres in a second. Its S
(1) 36 (1) 36
2) 20 (2) 20
(3) 18 3 18
M T2 ' @ 72
(5) IR TE o wed ) Not attempteq
HANTV / F2 ¥ T % feTe 22T/ SPACE FOR ROUGH WoRg ———— e



6. Choose the alternative which best expresses

the given sentence in Active Voice.
be sent today.

The invitation cards will
/ They will be sending the invitation

cards today. =
2) They will send the invitation cards
today. .
(3) . They will sent the invitation cards today.
(4) " They will have sent the invitation cards
today.
(5) Not attempted

7, Choose the most appropriate altemative to fill

in the blank.

The noise comes from the river.

(1) over

(‘21 across
'3) against
(4) besides
)

Not attempted

3. Find out the correct indirect speech of the
following sentence. : :
He said, “Do you know German ?”
(1) He asked me if I knew German.
2) I asked him if he knew German.
/(,3)’ He asked me to know German.
(4) He asked me if he knew German.

(5) Not attempted

9. Find out the part of the sentence which has
an error. _ -
If he is a millionaire, he would help
(a) (b) :
the Millennium Project in the future, .
(c) ()
()
@

(1)
(2)

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(1) heralded
" (2) _collapsed
“ completed
(4) given up Y
(5) Not attempted

62. Fill in the blank with the appropriate option
given below. :
If you no confidence in self, you

are twice defeated in life.

/(/11 have
(2) having
- (3) -has
(4)  hadnot
(5) Not attempted

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.

(1)

‘ " Caught while doing the crime
(3) Caught sleeping

(4) Caught easily

(5) Notattempted

‘Caught very late

64. Pick out the correctly spelt word.

minipulation
manipeulation
manipulation
menipulation
Not attempted

_

(2)
(3)
(4)
()

~

@) (a) | ‘ ’
@ [ 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
60. Find out the antonym of ‘absurd’. temple.
(1) sane (1) ?.long
\)2() refuse /g;/ mn
(3) silly on
) anxious (4) besides
5) Not attempted (5) Not attempted
WANTY
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66. frafafag
fra
T2 W o e
AR IR W | 71, it foeed 4 9
) @mm:@:mam n @ e
(3) W %WW 1 tl]
I wanit -
o .
(5) Wqﬁ?wh&}l /((i* -
o (5) <
o ) IR o AR
a?"'ffl'qqgft
g (1) mmwm T
(3)  favarEm ‘{%/WWW
3) S SR WHR
(4
= (5) SWTE o ded
68. :
) a?jazm—wmﬁamﬁmﬁ' i ﬁwmﬁwaﬁm
<R : W%WWWWW “m/ e
(1) it 5
2 = o
- (4) oA
o (5) ST =R
() S TR 74. ¥ IR IS af
¢ \ ﬁmm
60. ‘et ¥ e R T’ FEeR IR " e |
(1) dgfEHgE e o
@ e o R SR 9 ™
(3) i IRATRTT o
(5)‘ mjﬁﬁ%mm :4) e
IR T & =ed R
| R
70. ‘T’ TR ' S FHARE
1 o1 eiiferes ST wH-frT £ T - e
. L . i TE T
"R'q+319f o ‘L@Hﬁﬂ;ﬁ
(3) W+d B SR T
(4 U+ o g bl
5 I A w@m%
H
ANTV/F2 20 el o feTe 2uTet / SPACE F . T 3y
W——/
pad



76.

famn & “weRt Wit S Tt e & srwd

b A e fema i ol e R T € 2
5,300
(2) 4,200
(3) 6,500
(4) 6,000
(5) SR T M =ed
STt ow A faerer % way A frfared FHAI
W R Tl
@ T, Sria ¥ e §
0 TR TG T
S T § BT/ F A /e ?
(1) @3IRE)IA
2 AW (a) IRAE (b)
¥e (a) |
(4w (b)
(5) SR TR < = Rd
<Ramn @t T SEEe 19 | HA e
e foper gfaea § 2
(1) 50%
‘/(2/)‘ 45%
(3) 65%
@4) 55%
(5) SO TR < =

9, famon @R G 1 faere &7 & fae ufis e

e ——
HANTY / F2

76.

77.

@

78.

)

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000
Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports. v

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a)and (b)

Neither (a) nor (b)

(a) only

(b) only

Not attempted

Q
@
)

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 50%

@ 45%
3) 65%
4) 55%
(5)

 Not attempted

Bhainswal Kalan, famous for giving sportsmen

J . 79.
el forw foret & feea 82 to Haryana and to India is situated in which
\)}) R district ?
@) - (1) Bhiwani
o (2) Sonipat
“ E (3) Rohtak
) A ‘ (4) Karnal
(5) W & =Ared (5) Not attempted
Page 17
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Which
one
of the following pl
aces i
s,

80 :
. W@a
faenfeai LR
3 aa‘m e O E
. Jg/ REE! TP e 2 i wfeen @ | 80
,/(’3)/ m for Indian Wom
(1 en Hock
(4) W (2; P anchku la ockey players 5
(5 Shahb
) SW ﬂﬁ _a_:" aréa (3) Farid a:d d
a
(a) EREIRNEE ) Not attem :
T S FIT : pted
(b) m o iarsﬁ ﬁﬂé‘ .ﬁ: %l 81, COnSider th f
sty i e .
S 4 Y i & m%' (a) Masani ;alif’rwlng statement
2) (b) S /€2 hich of-th am is in Pi art dist
W (a) IR correct ? e above njore
(3) W “q é’ (b) (1) stateme ’
@ (@) 2 Both (a) and ntfs i
Had ) Neith (b)
(b) er (
5 WX @ @ a) nor (0
i 2 e o Heay
82. . on!
' = ﬁ q HHE-9 (B Nt atfe '
,,(J')( 31{ ' _ mmaﬂm ' 82. W : mpted
(3) et (1)'_ 1a ? owing is not
(4 . (2 I‘OOI‘ a danCe fOr
(5; il '(3; fhoria ‘
et 4 R e
83, R m . (5) Notag
197 qu T4 1 2 83 o attempted
1 ¢ .1
2 1 n whi
963 fle ich y
(3) 196 | i cor
o does o aryana
1966 \ ' 1971 was mad
(5) W (2) 1 : easd
78 & = (3) 963
g4, e fead (4) 1262
(1) 92 faym a4l frter ' (5) N°66
g/g 5 | Ehow man .
90 €re in yVidh
5 : 1 H an
— (5) I el ol GG :2; 22 aryana psabha Constituencies
TV/F2 @ !
)
88
= P79 o [T T/ S | ::; 90
RRo attem
UG pte
HWORK d
__/
page



ﬁqmmwmﬁﬂﬁmﬁ 85. Who amongst the following former UPSC

frefatea |
@gﬁm‘“ﬂ'ﬁﬂaa; WWW% R Cari] rél:(;::)grs was an IAS Officer of Haryana
3? " ~ (1) Mata Prashad
(1) TR (2) Subir Dutta
9/ e (3) P.C.Hota
@ @ & : (4) S.K.Mishra
(4) @i_;:; A (5) Not attempted
(5 SN

86. Which amongst the following is not a canal

network system of Haryana ?

bt ' (1) The Yamuna system
& Wm g R 2) The Indus system
B ﬁTE{Wﬁ a0 ' (3) The Bhakra system
ii Zf;:: ot Sli it suedl AR e gy The Lift system

) e BT . ‘ (5) Not attempted

87. Which one of the following districts of Haryana

7, frettea & T fore o S
¥ § gfamn & i W e shares border both with Punjab and

wwaéammsﬂmwm%? ' | Rajasthan?
1) TeaR _ = | (1) Hissar
o fo@ RISt (2 Sirsa
3) S ' . ‘(3) Kaithal
@ fiz B : _ . @) Jindi
(5) SR E A e ' I (5) Not attempted
88.  BRETON T Ty Y hI W T 2 ' '
W . .| 88. The State‘ Animal of Haryana is :
A (1) Can‘iel
Lﬁ’/ e feot :z: ;::; buck
(4) el
5 o P (4) Elephant
(5) Not attempted

HAN '
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89,

90.

91.

92

Frefafen § & o= :
e 22 ﬁ?maﬁwwnmmmmm
Ao

(2) <=/

B) e

4 I

(5) ST T

SR eTeTs Srefta srarvg et et 2
(1) =g

) =™

(3)

(4 S

(5) S|WTE TR

‘=ifd = TR fetan =1 fra Twel e o
RUNES RS IR :
" %75,00,000

2) ¥25,00,000
3) ¥51,00,000

(4) ¥1,00,00,001

(5) S & oA =R

TR Yo 7 el STafe § 2

e, v

ongst the following is not 5 ;

89. Which a7 ditional attire ?

Haryana’s tra
(1) Daaman
(2) Chorno
(3) Pagri
(4) Chunder
(5) Not attempted
90. Where is Bir Shikargarh Wildlife San

located ?
(1) Panchkula
(2) Karnal
(3) Kaithal

" 4) Jind
(5) Not attempted

91. What is the one-time cash amount giv

the “Kirti Chakra” awardee ?
(1) ¥75,00,000
(2) ¥25,00,000
(3) ¥51,00,000
(4) <1,00,00,001"

. (5) Not attempted

92. Where is Chinkara breeding centre loca
(1)  Morni, Panchkula

2) e () Kairu, Bhiwani
@ - (3)  Pipl, Kurukshetra
e | (4) Hissar
5 . () Notattempteq
03, TR et S g el ST 1 7 23. }Zg:tzz E ;Inagzrrll ah;stitute of Manager
(1) foarit () Bhiwani
(2) HTA i (2) Karnal
@ T )" Panchiula
@ e (4)  Rohtax
(5) ST A e ®) Notattempreg
T ¥ Prd & fo1e 2Tt / SPACE FOR ROUGHWoRK -
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" T "
4. mﬁ;-@;m@‘q‘{(ﬂ'{ﬂfm e 3R g "ieig 94. Two most important monuments of the Stat
e

fo S S & ;cl)‘::telaA;: 3?1;1}?;11(1“?‘““3’““ Mosque’ are
(1) W ' (1) Kurukshetra
(2) R (2) Naurangabad
(3) aEER | (3) Fatehabad
'qm ) (4) Mahendragarh
(5) SW Skl =Rd , (5) Not attempted

< 5o ST = Tea g S e A fie S | 95, Identify the place where Guru Gobind Singh

TS ¥ WY IS & 0% 52 i q T 9 ? stayed for 52 days after the battle with Hill
Kings ? .
(1) S e :
(1) Dhamtana Sahib
2 ol G EISN
. (2) Gurudwara Lakhan Majra
(3)  TIOGRI T e '
. 3 (3) Gurudwara Kapal Mochan
g FREA ' (4 Gurudwara Damdama Sahib
I ﬁl'a'a
®l S . _ (5) Not attempted

6. HITE F1 e I8 Frefarea § @ fres o g _
: : 06. The Third Battle of Panipat took place

a@? 2 - e between :
Ay e ST AR AE (1) Shah Alam and Muhammad Shah
() T TR fig oY ST | (2) Guru Gobind Singh and Aurangzeb
(3) iR wme SR AR o .~ (3) Nadar Shah and Aurangzeb
(4) TR WIE TSl S AWST | (4) . Ahmad Shah Abdali and the Marathas
(5) S T <A =R : : (5) Not attempted

— “ - -
97. mmmaﬁi e .faf“q S 9 I SAIGT | 97, Which day of every month is celebrated as
oo § ofEe FErE TR A e ? “Tithi Bhojan Beti Ka Janmadin School me
Abhinandan” ? ’

(1) 3rd Tuesday
(2) 4th Tuesday

J— . (8) 1St Tuesday
5) ;?R H’é‘f’é‘—n (4) 2nrd Tuesday
) ' (5) Not attempted
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98.

IR Tt waferoy
a&aaﬁ W’QOM%WWW
(TEEs-2030) wifaet s & wRamn wd #

BT I R 2

(1)
(2)

(3)

ES)

Hi3d[
e

)ﬁ)’ﬁ'ﬂ'{'{

(5)

99.

S Tl <A1 IR

RO et T e T2t i - forer e 5 A

Frfafas suHl ® faerR ST

(@)

(b)
S § § FH-a1/Q o w@ ¥/E?
(1) (a) R (o) <A
@) AWM (a) AT (b)
(3 (a)
(4) < (b)
(5) W = T e
100. el T TR SR (SheE L) FanH Frafafed
e R R SIS
@ e shgE g Frfem F N TE L,
3 a1fek B
qgmga;ra?.@éﬁ 2famon 3 Si.eq St
g aifusk T :
gqgfaaﬁ@ﬂ?—m/@wuﬁ%/%?
a)  (a) SRE T
) A9 A e ()
3) Hada (@
d (b)
(5) Fa el a1 =TEd
.o00-

HANTV/F2

21 o 3R 7o siferer ST it Wi T T
T T 1,800 Ui HE W= fea S B!

99.

100.

wm%mzm/SPAcEW
ORK

ia’s Environment Rep,
rank of Haryana Srtt 4
Aty

the
chimail;v;sg gustainable Developmen,
(sDG-2030) ?
(1) 6th
@ 8"
@ 1
(4) 3rd

(5) Not attempted

wing statements y
me - a State Schey
ryana.

Consider the follo
Widow Pension Sche
the Government of Ha
(a) A woman of age 21 years and aby

eligible.
(p) It carries an allowance of ¥ 1,800

Which of the above statement/s is
correct ?

(1) Both(a) and (b)

(2) Neither (a) nor (b)

(3) (a) only

(4) (b)only

(5) Not attempted

Consider the following statements about
State Domestic Product (GSDP).

(a) GSDP of Haryana is more than
Karnataka.

(b))  GSDP of Maharashtra is more thé'
of Haryana.

Which of )
correct ? the above statement/s "

(1) Both (a) and (b)

(2)  Neither (a) nor (b)
(3)  (a) only

(4)  (b)only

(5)  Not attempted
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